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A worker employed in a public utility service
will give notice of how many days before
going on strike ?

(A) 4 weeks
B) 6 weeks
(C) 3 weeks
D) 45 Days

A worker employed in a public utility service
cannot go on strike within how many days
of giving the information ?

(A) 15 days
(B) 30 days
©) 14 days
D) 45 days

The employer operating the public utility
service will not do Lock-out :

(A) Without six weeks prior notice

B) Without four weeks prior notice

© Without three weeks prior notice
D) Without two months prior notice
Strike is not a fundamental right of workman,
In which case the supreme court said it ?

(A) Sharad Kumar case

(B) Bharat Bhavan Trust case
€ Raj Kumar Case

D) Kameshwar Vs. Bihar State

In which section there is a provision of
Illegal Strike ?
(A) Section-22

(B) Section-25
€ Section-24
D) Section-23

(3)

qleh ST |ar § FRANTT FHBR ssard
A & b oAl qd e & 7
A  4T<E

B) 6HwE

C) 39«re

(D) 45%S

ofieh ST Gl § IR HHbR G
3 % T & & SfaX &AW TRl
ST Gehdl ?

(A)  15%S

B) 30f=

C) 14fS

(D)  45%S

Al IYIRT 4T FAerd Y <@l AT
HREMT §4 Tl BT -

(A  ® |<E Y4 e Ry R
(B) TR TWE G G & fo
€ O g<re g ga kY R
O) 2 e W@ e Ry R
FHBRI B EISAT BN B AIAD
PR & ur §, S=gaH e 3
fre e & Fe1 B ?

(A) IRE FAR TR

(B) R Wa¥ T AR

C) TR & &

D) FMEAX M fTBR TH

Y TSATA BN AAE e o § § 7

A)  EN-22
(B)  HR-25
C) w24
0) 9923

[P.T.O]



6. What penalty will one get, if he closes the
enterprise without following the prescribed
procedure for closing ?

(A) Imprisonment for six months

(B) Imprisonment for one month

€ Imprisonment for two months

D) Imprisonment for four months
7. Essential Service includes :

(A) Telephone Service

(B) Airline Service

€ Banking Service

D) All of the above

8. What is the penalty for illegal strike under
the Essential Services Maintenance Act,
19817
(A) Imprisonment for six months
(B) Imprisonment for four months
(€ Imprisonment for two months
D) None of these

9. Under which section of the Essential
Services Maintenance Act, 1981, there is a
provision for Punishment for abetment of
illegal strike ?

(A) Section-8
(B) Section-6
© Section-9
D) Section-4

10. Any offense under the Essential Services
Maintenance Act,1981 will be trial as :

(A) Session Trial
(B) Summon Trial
© Warrant Trial
D) Summary Trial
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1. What is the other name known of Essential 11

Services Maintenance Act 1981 ?

(A)  ESMA
(B)  OSORA
(C)  ASANA

D) None of these

12. Who has the power to make rule under  12.

Industrial Employment (Standing Order)
Act?

(A) Certifying officer

(B) Appropriate Government

(C) Labour Court

D) Trade Union

13. What is the qualification for the appointment 13

of presiding officer under Industrial Disputes

Act, 1947 ?
(A) He is or has been, a Judge of a
High Court

(B) He has, for a period of not less than
three years, been a District Judge

©) Both (A) and (B)

D) Any of the above (A) and (B)

14.  Who can constitute the national Tribunal in 14

Industrial Disputes Act ?

(A) Only State Government
B) Only Central Government
© Both (A) and (B)

D)

None of the above

15.  In the Industrial Disputes Act, only such  15.

disputes shall be referred to the court
which :

(A) is in existence

(B) is likely to arise

©) Both (A) and (B)
)

D None of the above
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16. Conciliation officer has duty under Industrial ~ 16.

Disputes Act :

(A) Only discretionary

B) Only mandatory

(©) Both discretionary and mandatory
D) None of these

17. The conciliation officer shall take the  17.

settlement proceedings, where :

(A) Exits Industrial dispute

(B) Industrial disputes are probable to
arise
(C) In above both situations

D) None of these

18. The duties of Labour Board are in which  18.

section of Industrial Disputes Act ?
(A) Section-13
B) Section-12
€ Section-14
D) Section-15

19. Who publishes the award in Industrial  19.

Disputes Act ?
(A) Court
(B) Board

(©) Appropriate Government
D) Local Authority

20. Within how many days from the date of  20.

receipt of the report or award, it should be

published ?

(A) 60 days
(B) 30 days
(€ 90 days
D) 120 days
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21. To whom will request the draft of the standing
Order in the Industrial Employment (Standing
Order) Act, 1946 ?
(A) To Appropriate Government
(B) To Trade Union
© To Attesting officer
D) All of the above

22. Within how many days an appeal should be
made against the order of the certifying
officer in the Industrial Employment
(Standing Order) Act, 1946 ?
(A) 90 Days
(B) 60 Days
€ 45 Days
D) 30 Days

23. Interpretation of any question regarding
standing order in Industrial Employment
(Standing Order) Act, 1946 will be made
by :
(A) Labour Court
B) Certifying officer
(0] High Court
D) Appropriate Government

24. In which section of the Industrial Employment
(Standing Order) Act 1946 there is a
provision for keeping a register of standing
order ?
(A) Section-7
(B) Section-6
© Section-8
D) Section-10

25. Who will trial of any offence in Industrial
Employment (Standing Order) Act, 1946 ?
(A) Metropolitan Magistrate
(B) First Class Judicial Magistrate
(0] Both (A) and (B)
D) High Court
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26. What is the power of a Labour Court, While
settling industrial disputes ?
(A) Tribunal
(B) Civil Court
€ Criminal Court
D) All of the above

27. What is the penalty of Illegal strike in
Industrial Dispute Act ?
(A) Imprisonment up to one months
B) Imprisonment up to two months
€ Imprisonment up to 15 days
D) Imprisonment up to 6 months

28. What is punishment for illegal lock-out under
Industrial Disputes Act ?
(A) Imprisonment up to two months
B) Imprisonment up to one month
€ Imprisonment up to 15 days
D) None of the above

29. Under which Section of Industrial Disputes
Act is the penalty for disclosing confidential
information ?
(A) Section-31
(B) Section-29
© Section-30
D) Section-30 ‘A

30. The power of cognizance of any offence
under Industrial Disputes Act :
(A) First Class Judicial Magistrate
(B) Second Class Judicial Magistrate
(C) Executive Magistrate
D) Tribunal

31. The period of implementation of settlement
and award in the Industrial Disputes Act,
where the date of implementation is fixed,
is assumed to be :
(A) any days
(B) Consent has been given by the

parties bound to the dispute
(€ First document produced by the
parties

D) All of the above
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32. A workman shall be deemed to have
continuous service of up to one year, if :
(A) must have been in working for 12

calendar months
B) must have been in working for 10
calendar months
€ must have worked for 200 days
D) must have worked for 190 days

33. Due to which reason continuous service
should not be considered as interrupted ?
(A) Sickness
(B) Accident
© Legal strike
D) All of the above

34, For the continuous service of six months,
how many days of working is necessary for
the service other than the worker working in
the mine ?

(A) 110 Days
(B) 120 Days
(9] 220 Days
D) 150 Days

35. Excel Beer Vs U.O.I, A.LLR 1979 SC, Case
related to :

(A) Section-25 K’
(B) Section-25 *J’
© Section-26

D) Section-25 ‘O’

36. In the case of Orissa Textile and steel Ltd
V/s. State of Orissa, the constitutionality of
which section was considered ?

(A) Section-25 ‘A

B) Section-25 ‘B’

(C) Section-25 ‘C’

D) Section-25 ‘O’
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37. Any offence under the Essential Services
Maintenance Act, 1981 will be trial by :
(A) Second Class Magistrate
(B) Executive Magistrate
(©) First Class Magistrate
D) Labour Court

38. Police can arrest under the Essential
Services Maintenance Act, 1981 by :
(A) Only Warrant
B) Only Summons
(C) Without warrant
D) None of the above

39. Under which section of the Essential
Services Maintenance Act, 1981 punishment
is given for financial assistance to illegal
strike ?
(A) Section-7
(B) Section-9
©) Section-6
D) Section-13

40. Under the Industrial Employment (Standing
Order) Act 1946, who comes in the certifying
officer ?
(A) Labour Commissioner
(B) General Court
(C) Labour Court
D) None of these

41. How many copies will request the draft of
the standing order in the Industrial
Employment (Standing Order) Act, 1946 ?
(A) Ten Copies
(B) Five Copies
(C) Three Copies
D) Six Copies

1018-B/650

37.

38.

39.

40.

41.

(10)

NMATH HaT TEREE A+, 1981 &
e et A A femRer foRm S
@ e @ ahge a3

B) PGS ATERE &

C)  ¥H T ARTEC TN

D) o9 <@g &}

JMATH T TEEE SAAaT 1981 &
I gferd FRER 3 @&l ©

(A)  %Id RIS &N

B)  FId T BN

C) & ar’e =™

D) S | § ®ig el

MATH T WWREE fawam, 1981 §

Y TSAIT P SMH FeEdl 34 W
fF 9T % ofdvid v & °?

A)  ER-7

(B)  &R-9

€  =)-6

0)  oN-13

Arenfives Forier (carlt emee) erfafvrem,

1946 B yHOTRAT STffthaY ¥ &N B 7

(A) 3 SIgHR

B) UMM EIH

) =™ JEEE

0) & § P T

e Frdiow (e o) e,
1946 # R TR $ TET H A
fepe wiferat ® o ?

A) =T U

(B)  Ura wfert

€ o ufedr

0) & i



42. Bombay State Vs. Hospital Mazadur Sabha,
AIR 1960, SC, is related to :
(A) Strike
(B) Hospitals have been considered an
industry
(C) Lock-out
D) None of these
43, Which is the main point of ‘TripleTest’ ?
(A) Systematic conduct of activities
(B) The work should be done with the
cooperation of the employer and
the employees
€ The work should be related to the
production and distribution of goals
D) All of the above
44, There is a provision for dissolution of Trade
Union under Trade Union Act, 1926 in :
(A) Section-26
(B) Section-30
© Section-27
D) Section-28
45. In the Industrial Disputes Act, has the power
to issue writs of Certiorari against the
decision of the Tribunal to the Supreme
Court. In which case did the Supreme Court
say this ?
(A) H.B. Kamath
(B) E.P. Royappa
€ Kameshwar Singh
D) None of the above
46. In which Section of Industrial Disputes Act
provide the general prohibition of Strike and
Lock-out ?
(A) Section-24
B) Section-23
(©) Section-25
D) Section-21
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47. In which section there is a provision of
Tllegal Lock-out ? :
(A) Section-24
(B) Section-25
(©) Section-23
D) Section-22
48. Hariprasad Shiv Shankar Shukla Vs A.D.
Diwakar, AIR 1957 S.C. Case related to :
(A) Definition of Industrial Dispute
(B) Constitution of Trade Union
€ Lay-off and retrenchment
D) None of these
49, Industrial Disputes (Amendment) Act 1953,
when came in force ?
(A) 23 October, 1953
(B) 23 November, 1953
€ 23 December, 1953
D) 24 January, 1954
50. Which sections are added by Industrial
Disputes (Amendment) Act 1953 :
(A) Section-23 ‘A’ to 23 J'
(B) Sectio-25 ‘A'to 25
€ Sectio-17 ‘A'to 17 ‘D’
D) Sectio-22 ‘A'to 22 ‘D’
51. Which is defined in Sec-25 ‘B’ of Industrial
Dispute Act :
(A) Continuous service
(B) Strike
(©) Lay-off
D) None of these
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92. Application for trade union registration
should be sent by the union’s :
(A) Eight or more members
B) Five or more members
(©) Seven or more members
D) Ten or more members

53. What is the minimum age required to
become an office bearer of a trade union ?
(A) 21 years
(B) 18 years
(©) 25 years
D) 30 years

54. A registered trade union can change the
name with the consent of not less than of
the total number of its members.
(A) One-third
(B) One-fourth
(©) Two-third
D) Two-fourth

95. Within how many days of the dissolution of
the trade union the notice of dissolution
should be sent to the Registrar ?
(A) 14 Days
(B) 15 Days
(9] 7 Days
D) 20 Days

6. News Paper Ltd Allahabad Vs. Uttar Pradesh
State Industrial Tribunal is related to :
(A) Representation of a trade dispute
(B) Bonded labour
(9] Workman Compensation
D) None of these
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oT. When did Industrial Jurisprudence develop
in India ?
(A) 17th Century
B) 16th Century
© 20th Century
D) 15th Century
58. On what principle is labour law based ?
(A) Laissez Faire policy
B) Public Welfare policy
(0] Both (A) and (B)
D) None of these
59. Who was not involved in the ‘Tripartite
Labour Policy’ ?
(A) Trade Union
(B) Employer
(©) Government
D) Agriculturist
60. When did the Tripartite Labour Policy come
into focus ?
(A) 1970-80
(B) 1950-60
(@) 1980-90
D) 1990-2000
61. Labour Legislation depends on :
(A) Social Justice
B) Social Equity
(C) National Economy
D) All of the above
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62. - constitutes the Tribunal.
(A) Only State Government
(B) Only Central Government
(C) Appropriate Government
D) President

63. Who can become the presiding officer of
the labour court ?
(A) Has completed 70 years of age
(B) Has completed 65 years of age
(C) Has not completed 65 years of age
D) All of the above

64. Which Article of the Indian Constitution
provides for workers subsistence wages ?
(A) Article-39
(B) Article-40
©) Article-43
D) Article-21

65. Which Article of the Indian Constitution
provides for the participation of workers in
the management of Industry ?
(A) Article-39 A
(B) Article-43 A
©) Article-47 A
D) Article- 48 A

66. Which of the following powers does the
labour Court has ?
(A) Examination of witness
B) Examination of document
(€ Issue of summon
D) All of above
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67. ‘Lay-off is defined under :.
(A) Section-2(kkk)
(B) Section-2(aaa)
© Section-2(cc)
D) Section-2(1)
68. Triple-Test principle was introduced in which
case ?
(A) Hospital Majadur Sabha Case
(B) A. Rajappa Case
(C) D.N. Banarjee Case
D) Jay Narayan Singh Case
69. 'Lock-out' is defined under :
(A) Section-3 (1)
B) Section-2 (k)
€ Section-2 (1)
D) Section-2 (c)
70.  --meeee- is included in Public Utility
Services .
(A) Railway Services
B) Transport Services
€ Telephone Services
D) All of the above
7. Retrenchment includes :
(A) Termination of service of workman
by employer
B) Service must be terminated for
some reason
(9] Termination of service should be
punishable as disciplinary
D) Termination of service should not
be punishable as disciplinary
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72. In which Article of Indian Constitution forced
labour is prohibited ?
(A) Article-20
(B) Article-24
(©) Article-23
D) Article-32
73. A child below the age of how many years
cannot be employed in a factory ?
(A) 14 years
(B) 16 years
(©) 12 years
D) 18 years
74. The equal pay for equal work for both men
and women is provided in :
(A) Article-38
(B) Article-39D
€ Article-39F
D) None of these
75. Through out the world in twentieth century,
the progress of Industrial society has been
—from contract to status.’ Statement is made
by :
(A) Savigny
(B) Sir Henry Maine
(9] Roscoe Pound
D) None of these
76. When was the Trade Union Act passed in
India ?
(A) 1936
(B) 1928
©) 1930
D) 1926
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7. Under which section of Industrial Disputes
Act 'Strike' is defined ?
(A) Section-2 (r)
B) Section-2 (q)
(©) Section-2 (t)
D) Section-3
78. e is not included in wages.
(A) Dearness allowance
(B) All remuneration
(C) Travel Concession
D) Any Bonus
79. 'Workman' defined which under section of
Industrial Disputes Act ?
(A) Section 2 (s)
(B) Sectio 2 (f)
©) Sectio 2 (a)
D) Sectio 4
80. Workman includes:
(A) Person controlled by the Armed
Forces Act
(B) Person employed in Police service
€ Person working in an administrative
capacity
D) An apprentice
81. The main function of the works committee
is
(A) To take measures for good
relations between employers and
workers
B) To try to end material difference
between employers and workers
©) Both (A) and (B)
D) None of these
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82. Which can make regulation to comply the  82.
provisions of Trade Union Act, 1926 ?
(A) High Court
(B) Supreme Court
©) Trade Union officer
D) Appropriate government
83. The cognizance of offences is takenin Trade 8.
Union Act by :
(A) Session Court
(B) Labour Court
(©) First Class Judicial Magistrate
D) Second Class Judicial Magistrate
84. Provision of Punishment for giving false  84.
information about trade unions is given in :
(A) Section-32
(B) Section-33
€ Section-31
D) Section-29
85. Provision as to benefit of registered trade  85.
union is given in :
(A) Section-26
B) Section-13
(©) Section-12
D) Section-18
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86. What is included in the definition of Trade
Union ?
(A) Any combination whether temporary
(B) Any combination whether permanent
€ Both (A) and (B)
D) None of the above

87. In which section of the Trade Union Act 1926
the application for registration is made ?
(A) Section-11
(B) Section-6
©) Section-8
D) Section-5

88. What is the advantage of a registered trade
union ?
(A) It becomes a body of corporate
B) It will receive a continuing

successor

(0] It can hold property
D) All of the above

89. At what age can a trade union be joinned as
a member ?
(A) 15 years
(B) 18 years
(©) 21 years
D) 12 years

90. Trade Dispute takes place between :
(A) Employer and worker
B) Worker and government
(C) Employer and public
D) All of the above
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91. Can a unregistered trade union sue in its  91.
own name ?
(A) Yes
(B) No
© Don’t know
D) None of these
92. Since when Industrial Disputes Act, 1947 92
came into force ?
(A) 1 April, 1948
(B) 1 April, 1950
©) 1 April, 1947
D) 1 March, 1947
93.  Inthe matter oflife Insurance Corporationof g3
India under the Industrial Disputes Act, the
appropriate government is :
(A) Life Insurance Corporation of India
B) All State Governments
(C) Registration officer
D) Central Government
94. The word ‘Industry’ is defined under : 94,
(A) Section-2 (j)
(B) Section-2 (k)
© Section-2 (a)
D) Section-2 (b)
95. The “Triple test’ principle is related to : 95.
(A) Trade Union
B) Industrial Dispute
€ Definition of Industry
D) None of these
1018-B/650 (21)

IR-TEiga €9 o M § 9 o
T &

A

B) T

(C)  udr &

0) 3 q F& T

N faare orfdfem, 1947 &9 9
QN e 7

(A) 1 KA, 1948
B) 1 3W, 1950
C) 1 B, 1947
D) 1 9/, 1947

AN fare eifafrm & oFaria AR
Shiee ST R & Ao | R SR
4

A)  ARAHE S S

B) Al T &R

(C)  Ustiertor HAfEpr

D) F% &R

‘T S IR B, SRR

A E-2()

B)  aW-2(K)

C)  4U-2(a)

D) €2 (b)

B-1deer s wafaa §

A FTEE G 9

B) e faE |

(C)  TENT & gRHMW &

0) 3 q F& T

[P.T.O]



96. North Broke Jute Company Ltd. Case is
related to :
(A) Works Committee
(B) Definition of Workman
(C) Trade Union
D) None of these
97. Who appoints the Conciliation officer ?
(A) Local Authority
(B) Employer
€ Appropriate government
D) Director
98. Board of Conciliation is provided under-----
of Industrial Disputes Act .
(A) Section-4
(B) Section-5
€ Section-6
D) Section-3
99. The Court of Inquiry shall submit the report
within how many days of the commencement
of the inquiry ?
(A) Six months
(B) Three months
© Two months
D) One month
100.  Which authority is not provided in the
Industrial Disputes Act ?
(A) Works Committee
(B) Labour Court
(C) Conciliation Board
D) Sub-divisional officer
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number of correct answers you have.
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anywhere other than the place specified
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considered valid.

6. Before writing anything on the OMR
Answer Sheet, all the instructions given
in it should be read carefully.

7. After the completion of the examination,
candidates should leave the examination
hall only after providing their OMR
Answer Sheet to the invigilator.
Candidate can carry their Question

Booklet.
8. There will be no negative marking.
9. Rough work, if any, should be done on

the blank pages provided for the purpose
in the booklet.
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